M.C.D e m.c.m. tra polinomi

algebra
calcola il MCD e mcm tra i seguenti gruppi di polinomi
3x2 —12;
MCD: x —2
1 4x? — 16x + 16
mem: 12x(x — 2)?(x + 2)
x? —2x
x* + x2y?
MCD: x? + y?
2 | x*— y4 y

mem: x2(x? + y2)?(x? — y?)

MCD:a(a—1)
3 |a*—ad
mem: a®(a — 1D)?*(a+ 1)
a* — a?
m* —m3
4 2 MCD: m(m — 1)
4 m —m
mem: m*m—1D(m+1DM?* +m+1)
m*—m

a’b? + a’bc
ab* + ab?c?

a3b3 + adb?c + a?b3x + a’b*xc

MCD: ab
mem: a?b?(b? + c¢?)(b + ¢)(a + x)

Xt — y*
23— x%y — xy? + 3
x* + y* — 2x%y?

MCD: x% — y?
mem: (x — ¥)*(x + y)?(x* + y?)

m3—1
m3 —m
m?—-2m+1

MCD:m—1

mem: m(m — 1D?(m+ 1D(m? + m+ 1)

2ubv — 2udv3
4u3v? + 4uvt

—2u?v3 + 2utv

MCD: 2uv

mem: 4u3v?(u + v)(u — v)(W? +v?)

m? —2mn+n?—4
m—n+2

m? —mn + 2m

MCD:m—n+2

mem:m(m —n+2)(m—n—2)

10

2x3 — 2xy?
xy — y?
2x% — 4xy + 2y?

MCD:x —y
mem: 2xy(x — y)?(x + y)
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11

X2 —x+xz—2z
x2 -1

xy—y—x+1

MCD:x —1
mem: (x — Dx+Dx+2)(y—1)

12

1—-3a+3a?—-a’
Xx+a—ax—a?

X —ax

MCD:1—a

mem: x(1 — a)3(x + a)

13

(m? — 3m + 2)?
m3—m?—4m+4

m3 —nm? —4m + 4n

MCD:m—2

mem: (m — 2)?(m — 1)?(m + 2)(m —n)

14

(x2 —9)(x? + 4)
(x% — 6x +9)(x3 + 4x)
(x% + 6x + 9)(x* + 4x2)

MCD: (x? + 4)
mem: x2(x? + 4)(x — 3)%(x + 3)?

15

3a® —4a? +5a—-4
3a® +5a%*+2a+8
15a? + 5a + 20

MCD:3a%* —a+ 4
mem: 5Ba? —a+4)(a—1)(a+2)

16

6u®+u-—2
2u® —u
4ud —u

MCD:2u—1
mem: u(2u — 1)Qu + 1)(Bu + 2)

17

2m3 +m? —18m —9
m?>—m-—6

m? -9

MCD: 1
mem: (m+2)2m+ 1)(m —3)(m + 3)

18

a’?+3a+ab+3b
a’® + 2ab + b?
a’—9a+a’*b —9b

MCD:a+b
mem: (a + b)?(a + 3)(a—3)
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